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The Pear Refused to Fall

A Swiss Tale by the Grimm Brothers

Louis Sauter
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The master shook the tree,
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But the pear refused to fall.
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The master sent the boy
"To shake the tree:
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Shake the tree, the boy would not, The pear refused to fall.
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The master sent the dog
To bite the boy:
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Bite the Dboy, the dog would not, Shake the tree, the boy would
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not, The pear refused to fall.
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The master sent the stick
To hit the dog:
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Hit the dog, the stick would not, Bite the boy, the dog would
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not, Shake the tree, the boy would not, The pear refused to fall.
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The master sent the fire
To burn the stick:
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Burn the stick, the fire would not,  Hit the
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dog, the stick would not,  Bitethe boy,the dog would not, Shake the tree, the boy would
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not, The pear refused to fall.
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The master sent the water
To douse the fire:
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Douse the fire,the water would not, Burn the stick, the fire would not, Hit the
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dog, the stick would not, Bitethe boy,the dog would not,
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Shake the tree, the boy would
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not, The pear refused to fall.
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The master sent the calf
To lap the water:
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Lap the water, the calf would not, Douse the fire,the water would not, Burn the
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stick, the fire would not, Hit the dog, the stick would not, Bite the
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boy, the dog would not, Shake the tree, the boy would
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not, The pear refused to fall.

419 AdagioJ =72
" ~ 4, 19 2
| ] | - I4 I 1 |4
The master sent the butcher
To kill the calf:
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Kill the calf,the butcher would not,  Lapthe water, the calf would not, Douse the
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fire, the water would not, Burn the stick, the fire would not, Hit the
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dog, the stick would not,

Bitethe boy,the dog would not,

Shake the tree, the boy would
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not, The pear refused to fall.
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The master sent the henchman
To hang the butcher:
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The henchman a - greed to hang the  butcher, The butchera - greed to kill the
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calf, The calf a - greed to lap the water, The water a - greed to douse the fire, Thefire a -
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gree to burn the stick, The stick a - greed to hit the dog, The dog a - greed to bite the
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boy, The boy a - greed to shake the tree. And the pear agreed to fall.
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